WeBWorK assignment three is due Thursday, February 1 at

9:00pm.
If you need help with the theory as you work through your

5. (1 pt) Evaluate the definite integral.
4
/ t4In(3t)dt
1

assignment, your scheduled lab and the continuous tutorial (MS
365) are the best places to go. - — - -
It)’s a good ideaF\)to start \?vorking on your assignment early! 6. (1 pt) First make a substitution and then use integration by
Good Luck! ‘parts to evaluate the integral.
- / X% cog(x°)dx
1. (1 pt) The indefinite integraf (4x+ 3)e*dx can be evalu-
ated using integration by parts. +C
If we let u=4x+ 3, and dv= e*dx, we find that 7. (1 pt) Use integration by parts to evaluate the integral.
du= dxand v= . /27x2co 3 dx
The formula udv= uv— [vduthen tells us that: 9
[(4x+3)eXdx= -f dx. +C
Thus [ (4x+ 3)e*dx = +C 8. (1 pt) Evaluate the definite integral.
5
2. (1 pt) Use integration by parts to evaluate the integral. / sin2(7x) c052(7x) dx
0

(Hint: letu = x andv = &%)

/ xe™dx
+C
3. (1 pt) Use integration by parts to evaluate the integral.

HINT: you will need to use some trig identities. The double
angle formulas for sine and cosimgn(2t) = 2sin(t)cogt) and
cog2t) = 1—2(sin(t))? orcog2t) = 2(cog(t))? — 1 will be very
useful. For examplesin(7x)coq7x) = (1/2)sin(14x).

A simple substitution won't work!

/ 3xcog3x)dx

+C
4. (1 pt) Evaluate the indefinite integral.

9. (1 pt) Evaluate the definite integral.
/2
/ sin° xcos%x dx
0

/ & sin(6x)dx

+C
Hint: This is similar to Example 4 of Section 6.1 in the book.

10. (1 pt) Evaluate the definite integral.
3 sed?(13x)

0o cot(13x)
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